
Absolute)normaliza0on)for)the))
3.5)GeV)pp)data)(gen2))

A.)Rustamov)



normalizing)to)the)elas0c)scaAering)

€ 

N4π
el =σ 4π

el Nacc
el

σ acc
el

15.3)mb)±)something),)we)do)not)need)this)anyway.)

Normaliza0on)is)done)to)

In)this)case)we)need)))

€ 

N4π
el

σ 4π
el =

Nacc
el

σ acc
el

€ 

σ acc
el



differen0al)elas0c)cross)sec0on)

data))points)are)taken)from:)
Kammerud)et)al.)Phys.)Rev.)D)4)(1971),)5)€ 

σ acc
el =

dσ
dΩ

dΩ =
dσ
dΩ
sin(θ)dθdϕ∫ = 2π

dσ
dΩ

dcos(θ) = 0.16mb
55o
125o

∫∫

For)pp)data)at)E=3.5GeV,)Mom)≈)4.33,)therefore)taking)the)mean)points)from)this)figure)
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